
Excavation and Embankment Errata Sheet 
 
Page 16 – Third Section:    Due to poor quality of print, it is difficult to see that the 
formula is P.I. = L.L. – P.L. 
Page 19 – Answer 2-7:     Due to poor quality of print, it is difficult to see that 
the answer is PI = LL – PL 
 
 
Page 20 – Quest. 2-10:  The requested answer format it 
     1.______________ 
     2.______________ 
     3.______________ 
        ______________ 
 
Page 18 – Answer 2-10:  Answer given is 

a. gravel 
b. sand 
3. silt 

clay is left off. 
 
Page 49 – Question 3-42  Answer on page 3-42 should read .425  


